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carbon
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Current: 6+ Residents Future: 4 Residents

o Total Carbon Footprint o
11.22 Tons CO2/year 17.87 Tons CO2/year
(4.08 Hectares in Trees) (6.50 Hectares in Trees)
o Total Household Footprint o
4.03 Tons CO2/year 2.65 Tons CO2/year (per capita)
Total Transportation Footprint
O <
1.79 Tons CO2/year 0.468 Tons CO2/year (pet capita)
o Total Travel Footprint o
0.4 Tons CO2/year 0.10 Tons CO2/year (per capita)

Differences?

The reason for the smaller per capita footprint in the future versus the large
footprint currently is that currently | live with hundreds of other students, sharing

a lot of resources together. However for the large total footprint in the future, the
reason may be that I'll be traveling a lot for work and recreation, where currently
| don’t have to travel too much.




